   WALT: solve real life problems involving multiplication  date…………………
Please write the calculation as well as the answer
If one car has 4 wheels how many wheels are there altogether with 5 cars?
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If 1 bird has 2 wings how many will 6 have altogether?
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If there are 5 sweets in a jar how many will be in 6 jars altogether?
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If an ant has 6 legs how many will 3 ants have altogether?
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If 1 bunch of flowers has 10 roses how many will 6 bunches have altogether?
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If a farmer has 8 fields and puts 5 cows in each field how many cows will there be altogether?

*****************************************************

Challenge; write 2 of your own word problems which involve multiplication (Don’t forget to include the answer!!)





















